Honors Chemistry

Bonding

Activity 5
Counting Beans
Background Information

Each group will be given a glass jar of beans.  There are three different types of beans; a kidney bean (dark red), a black-eyed pea (white with a black spot), and a split pea (light green).  The split peas are diatomic, the can be alone (half of an actual pea) but they prefer to have a twin.  The chemical symbols for each bean are: Kb for kidney bean, Be for black-eyed pea, S for split pea.  The molar mass for each pea is 4.43 g for Kb, 2.07 g for Be, and 1.78 g for S2.  

Objective

Your group will need to determine the empirical formula and the molecular formula for each group of beans. 

1. Determine the mass of a single bean.
Kb ________ g


Be ________ g


S ________ g

2. Determine the mass of each bean type in your jar.

Kb ________ g


Be ________ g


S ________ g

3. Determine the number of moles of each bean type present in your jar.

Kb ________ mol


Be ________ mol


S ________ mol

4. Given this data determine the empirical formula and molecular formula for your glass jar of beans.

Empirical ________________
Molecular ________________ 
Jar Label _______
5. Assuming this is a covalent molecule; give your compound a name. (use the empirical formula)

6. Often times, pharmaceutical companies will give their compounds an industry name such as Tylenol or Benadryl.  Give your new compound an industry name. (this is just for fun)
